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A4 1R0T _— 05 |7 H17. 3. 1 8 A 100t FLIONTS0F) ) T[ 20, 750 20.150 1] 20. 750]_20. 150 Blma s
A4 1R0T _— 05 |7 H17. 3. 1 8 A 100t FLIONTS0F) ) T[ 20, 750 20.150 1] 20. 750]_20. 150 Olmas s
A4 1R0T _— 05 |7 H17. 3. 1 A 1o0ia 7 LIONTS0FY ) T[ 20, 750 20.150 T 20,750 20.150] __ T0lm&a-s-
A4 1R0T _— 05 |7 H17. 3. 1 A 1o0ia 7 LIONTS0FY ) T[20, 750 20.150 T 20,750 20.150] _ Tllm&as-
#1201 — 05 |7 H17. 3. 1 A 1008 7 LIONTS0FY ) [ 20, 50| 20.150 T 20,750 20.150] _ T2lm@as-
#4501 — 05 |5 HI7.3.1 RO A [+ Los-11B6-4412 T[ 16, 445] 16,445 1] 16. 445 16. 445 loc—
#4501 — 05 |57 HI7.3.1 RO A [+ Los-11Bo-44v2 T[ T6, 445] T6. 445 1] T6. 445] 6. 445 Dlae—
#4501 — 05 |57 HI7.3.1 RO A [+ Los-11Bo-4av2 T[ 16, 445] T6. 445 1] T6. 445]_T6. 445 3lae—
#4501 — 05 |57 HI7.3.1 RO A [+ Los-11Bo-44v2 T[ T6. 445] T6. 445 1] T6. 445]_T6. 445 Alae—
A5 —1R0T _— 05 [ HI7. 3. 1 RO A [+ Los-11Bo-4av2 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 JEETES
A5 —1R0T _— 05 [ HI7. 3. 1 RO A [+ Los-11Bo-44v2 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 jjETTES
A5 —1R0T _— 05 [ HI7. 3. 1 RO A [+ Los-11Bo-44v2 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 BleEm s
A5 —1R0T _— 05 [ H17. 3. 1 RO A [+ Los-11Bo-44v2 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 [JETTES
A5 —1R0T _— 05 [ H17. 3. 1 RO A [+ Los-11Bo-44v2 1] T6. 445] 6. 445 [ T6.445] T6.445]  T0[zas-
A5 —HE0T _— 05 [ HI7.3. 1 RO A [+ Los-11Bo-44v2 1] _T6. 445 T6. 445 [ T6.445] T6.445]  T1|mas-
A46[— 80T _— 05 [iF Hi7.3. A 11+ use2o0zsor 1] 16. 445]_16. 445 1] 16.445] 16,445 [axgga s
46[— 201 — 05 |7 Hi7. 3. RO A [+ ussro0zsor 1|16, 445] 16. 445 [ 16.445] 16,445 2lisza-s-
A46]—1R0T _— 05 [ H17.3. 1 RO A [+ Kuss2o0zs07 1] _T6. 445] 6. 445 T[ 16, 445] T6. 445 31 Eoe—
A46]—HE0T _— 05 [ H17. 3. 1 RO A [+ Kuss2o0zs07 1] _T6. 445] 6. 445 T[ 16, 445] T6. 445 | E—
A46]—HE0T _— 05 [ H17. 3. 1 RO A [+ Kuss2o0zs07 1] _T6. 445] 6. 445 T[ 16, 445] T6. 445 lexan—r—
A46]—HE0T _— 05 [ H17. 3. 1 RO A [+ Kuss2o0zs0r 1] T6. 445] T6. 445 T[ 16, 445] T6. 445 bln—r—
A46]—HE0T _— 05 [ H17. 3. 1 RO A [+ Kuss2o0zsor 1] T6. 445] 6. 445 T[ 16, 445] T6.445 Tlan—r—
A46]—HE0T _— 05 [ H17. 3. 1 RO A [+ Kuss2o0zs0r 1] T6. 445] 6. 445 T[ 16, 445] T6.445 Bloxan—r—
A46]—HE0T _— 05 [ H17. 3. 1 RO A [+ Kuss2o0zs0r 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 Ol n—r—
#46|— 101 — 05 |57 HI7.3.1 RO A [+ Kuss2o0zs0r T[ 16, 445] T6.445 ] 16.445] 16.445]  10]me—
#46|— 101 — 05 |57 HI7.3.1 RO A [+ Kuss2o0zsor T[ T6, 445] T6. 445 1] 16.445] 16.445]  Ti]me—
#46|— 10T — 05 |57 HI7.3.1 RO A [+ Kuss2o0zs07 T[ T6.445] T6. 445 1] 16.445] 16.445]  12]me—
AAT[— 1201 — 05 |7 H17. 3. 1 R A [+ ks 52007507 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 1o mEr
AATI—1R0T _— 05 |7 H17. 3. 1 R A [+ kus-5200-z507 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 2lopm s
AATI—1R0T _— 05 |7 H17. 3. 1 R A [+ kus 52007507 1] T6. 445]_T6. 445 T[ 16, 445] T6. 445 3o mra s
AATI—1R0T _— 05 |7 H17. 3. 1 R A [+ kus 52007507 1] T6. 445] 6. 445 T[ 16, 445] T6. 445 iz pera s
AAT—HR0T_— 05 |7 HI7. 3. 1 R A L4+ ko5 52007507 1] _T6. 445]_T6. 445 T[T, 445] 16,445 Sz mtras s
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47| —HE01  — 05 |#&FF H17.3.1 XEEA [0+ KJs-5200-25D7 1] 16,445 16, 445 1] 16,445 16, 445 6|2 pEarga1-+-
#48|—H%01  — 05 |A' V¥ H17.3.1 XA |1h-3:8 %% LA y7LIG4030AA45P4 1] 86,840 86,340 1] 86,840 86,840 A —F—
49|—#%01 — 05 |oyh- H17.3.1 XEEA |13 A FHHJJ-0931SS-WE 11 23,200] 23,200 11 23,200] 23,200 EHE
#050[—#%01 — 05 |oyh- H17.3.1 XEEA |14 A FHJJ-0941SS-WE 11 26,300] 26,300 11 26,300] 26,300 ESES
#050[—#%01 — 05 |oyh- H17.3.1 XEEA |14 A FHHJJ-0941SS-WE 11 26,300] 26,300 11 26,300] 26,300 AES
#)51|—#%01 — 05 |oyh- H17.3.1 XBE A |{F-+HLB-9833SS-R8 11 49,205 49, 205 11 49,205 49, 205 1|nyp-=
#)51|—#%01 — 05 |oyh- H17.3.1 XBE A |{F-+HLB-9833SS-R8 11 49,205 49, 205 11 49,205 49, 205 2|nyp-2
#)51|—#%01 — 05 |oyh- H17.3.1 XBE A |{F-+HLB-9833SS-R8 11 49,205 49, 205 11 49,205 49, 205 3layp-%
#)51|—#%01 — 05 |oyh- H17.3.1 XBE A |{F-+HLB-9833SS-R8 11 49,205 49, 205 11 49,205 49, 205 4loyp-%
#)51|—#%01 — 05 |oyh- H17.3.1 XBE A |{F-+HLB-9833SS-R8 11 49,205 49, 205 11 49,205 49, 205 5layp-z
#)51|—#%01 — 05 |oyh- H17.3.1 XBE A |{F;-+HLB-9833SS-R8 11 49,205 49, 205 11 49,205 49, 205 6|nyi-z
#52[—fH501 — 05 [#;Ef-T H17.3.1 XEEA [1F-FVWF-011 1] 18,855 18,855 1] 18,855] 18,855 EHE
#153[—f#E01 — 05 [&£E H17.3.1 XBE A |{F-+GGR-504AA-TH 11 19,665 19,665 11 19,665 19,665 EHE
54[—H501 — 05 [[EE& H17.3.21 XEEA [193 WA-1T7IN 1| 52,845 52,845 1| 52,845 52,845 HE=E
#)55|—f801 — 05 |{E& H17.3. 2] XEEA [193 WF-17IN 11 30,680 30,680 11 30,680 30,680 HE=E
#156/—#501 — 06 [ -} H17.3.21 XBEEA |yvn PSR275 #F{T 11 36,000] 36,000 11 36,000] 36,000 EA=L:0ES
#157[—H%01  — 06 [E77/ H17.3.1 XEEA [YW\YP10 #BF{T 1] 688, 800| 688, 800 1] 688, 800| 688, 800 EA=L:0ES
#)58(—A%01  — 07 [Ft va73a34b | H17.3.1 XEEA (VA9 872683 GEYUES) 11 26,350 26, 350 1 26, 350] 26, 350 7' LAl=h
#59[—#501  — 07 [#MT 47 0vh H17.3.1 XEEA [vAty864983 (D0 O wH) 1] 50,575] 50,575 1 50,575| 50,575 7' LAl=h
#)60(—A%01 — 07 [bIc=AY-Y- | H17.3.1 XEEA [vAty 67289 1 17,000{ 17,000 1 17,000{ 17,000 7' LAl=h
61|—H501 — 05 [BR H17.3.21 XEEA [7F4 U-1200 1[ 40,800] 40, 800 1[ 40,800] 40,800 A=
64| —HE01  —  12[h AkeERES H17.3.1 X BE A | nvPR-200DF 11 15,980 15,980 1] 15,980 15,980 1|ym=s
64| —H501  —  12[h AkRERES H17.3.1 X BE A | nvPR-200DF 11 15,980 15,980 1] 15,980 15,980 2|pmE
65[—HE01  — 12|AEE H17.3.1 XEEA [+31INR-B162J-S 1] 48,000 48,000 11 48,000 48,000 EHE
66[—H501 —  12|AEE H17.3.1 XEEA [HITACHI 1[ 88,000] 88,000 1[ 88,000] 88,000 BIEE
67| —HE01  — 12[FEFLYY H17.3.1 X EE A [SHARP RE-TB 11 22,800] 22,800 11 22,800] 22,800 1|pmE= - E5=
67| —HE01  — 12[FEFLYY H17.3.1 X EE A [SHARP RE-TB 11 22,800] 22,800 11 22,800] 22,800 2{pmE - E5=
68| —HE01 — 147773 H17.3.1 XBEA |77 37 0SR20 11 31,840 31,840 11 31,840 31,840 EHE
WIER — D[ENT H17.3.1 XEEA [TY-1 1139, 000 39, 000 1139, 000 39, 000 Bt
W2 —#301  —  90|%ER HI7.3.1 < B A 1] 423.000] 423. 000 1] 423.000] 423. 000 nz
MIAlIEEROS  — 01 [ 7 47 9% H17.3.1 XEEA [DV-PF7 11 36,000] 36,000 11 36,000] 36,000 h&gE H28. 10RBLHE
#76/15%R05 — 01 [CD/MD3Y #+ H17.3. 2] XEEA | TY-99RX-MDX81-S 11 32,800] 32,800 11 32,800] 32,800 0l 32,800 0 S
78|1EFRO5  — 03 [ yay H17.3.1 XEEA [/-7y9PV7280ARB 11 110, 000] 110, 000 11 110, 000] 110, 000 NI e
#81|T4E06 — 06 |[EE=EXRIF H17.3.1 XEEA [b" 9718 11 105, 400] 105, 400 11 105, 400] 105, 400 I==aE
81| T/E06 — 06 [E=EXIF H17.3.1 XEEA [b" 9718 11 105, 400] 105, 400 11 105, 400] 105, 400 AR
#82| T1/E06 — 06 THE+ Y K| HIT.3.1 XEA ISN-E=FBEtyh 1] 36,975 36,975 1] 36,975 36,975 I==aE
#82| T1/E06 — 06 THE+ v K| HIT.3.1 XEA ISN-E=FBEtyh 1] 36,975 36,975 1] 36,975 36,975 AR
#83|T4E06 — 06 [RIE+yh H17.3.1 X BE A |SN-Z:Eil FB 1] 35,360 35,360 11 35,360 35,360 IXEABE
84| T4E06 — 06 |EFTEty} H17.3.1 XEEA |V3-t & KS-3 1 57,630] 57,630 1 57,630] 57,630 IXEABE
#85|EM08 — 01 [fE¥R H17.3.1 XA |SRar 11 29,700] 29,700 1 29,700] 29, 700 0 0 0 S
#86|EM08 — 03 [31+EH H17.3.1 XEEA [ILxEEsE 11 57,600] 57,600 11 57,600] 57,600 =
1026|—#%01 — 02 |AH H17. 3. 31 A |thiEEER A 11 23,100] 23,100 1] 23,100] 23,100 EBE
10281805 — 03 [nyay H17. 3. 31 BEA |E18FMV-830NU/LX 11 173, 460] 173, 460 11 173, 460] 173, 460 1AEEFIE 7°0Y 1ha
1034[1E3R05  — 03 7" v4- H17. 3. 31 BEA  [¥v/¥ LBP3000 11 22,4701 22,470 11 22,470] 22,470 4t
1036[—#%01  — 05 K= EEEIEMR [H17.3. 31 BEA 1 89,250] 89,250 1] 89, 250] 89, 250 HEI-1-
1037|—#501 — 07 |[}RZEES H17. 3. 31 BEA BREES 1| 25,200] 25,200 11 25,200] 25,200 7" bAl-4
1038|—A%01  — 05 [3-74VH9 K -F [H17.3.31 BE A [MB-H11 11 23,100] 23,100 1] 23,100] 23,100 EBE
1041[—#801 — 05 [Rsr H17. 3. 31 BE A [HS-150N 1] 15,803] 15,803 1] 15,803] 15,803 AE
1042[—#801  — 05 [7°Uv4-asvb  [H17.3. 31 BE A [PCS-2306 11 26,617] 26,617 11 26,617] 26,617 EBE
1043[—#801 — 05 (8RR H17. 3. 31 BEA |FIHBEAHR 1] 53,802] 53,802 1] 53,802| 53,802 EB=E
1046|—fiE01 — 05 |EE H17. 3. 31 BE A |[TRUSCO 11 81,300] 81,300 11 81,300] 81,300 EHE
1105 1 — 5% -§ H17.7.20 BA [RBOZEAL - (HEDRHAH) 1 70, 350] 70, 350 1 70,350 70,350 =4+
1111 1 — 5% -§ H17.7.20 BA |FIABRAKRER 1 87,150( 87,150 1 87,150( 87,150 2B
1128 5 — 1|BEf3nr5Ez470E" |H17.10. 27 BEA [208% % 1 87,433 87,433 1 87,433 87,433 EHE
1133 1 — 5|51 H17.11.30 BA [HEthY &L 1 23,887 23,887 1 23,887 23,887 1R E—
1133 1 — 5|31 H17.11.30 BA [HEthY &L 1 23,887 23,887 1 23,887 23,887 201 O E—
1133 1 — 5|51 H17.11.30 BA [HEthY &L 1 23,887 23,887 1 23,887 23,887 J[1EOE—
1139 1 — JETES H17.12. 31 BEA  IMS-110 1 15,750] 15, 750 1 15,750] 15,750 ZEEE
1140 1 — 1139y H17.12.31[=-2" BA |t B3IYVE-2000F! 1 53,025 53,025 1 53,025 53,025 IEE
1141 6 — 6|Hy5- H17.12. 31 A |FarF0-VA TSE14-4018 1 33, 705 33, 705 1 33, 705 33, 705 IxE
1143 5 — 152 H18.1. 31 BEA  |TR-215W 1 15,750] 15, 750 1 15,750] 15,750 1 EHEE
1144 5 — 152 H18.1. 31 BEA |TR-315w 1 20, 160( 20, 160 1 20,160{ 20,160 1B E M




WRaE 1 AR A2 2 —
N i B TEE
N\ =] BTN N " = N - = y = =
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1182 1 = 6|&EFE 7/ H18. 3. 31 A 1] 105,000] 105, 000 1] 105,000] 105, 000 LIS
1203 1 = 17 42F y5- H18.3.30|=-2 BA |yt 1| 44 100] 44 100 1| 44,100 44 100 REEE
1204 1 = T[Ab49% v~ | H18.3.30|=-% BA |yt 1] 62,790 62 790 1] 62,790 62 790 REEE
1205 1 = T[Em% 1 H18. 3. 30{=-2" BA |yt 1] 17,829 17,829 1] 17,829 17,829 REEE
1260 1 = S|IFEHAM - #&F| H19.3.22 BA |yt 1] 35,899 35,899 1] 35,899 35,899 -7 =
1260 1 = S| EHAM - #&F| H19.3.22 BA |yt 1] 35,899 35,899 1] 35,899 35,899 219 W-7" =
1260 1 = S|IFEHAM - #&F| H19.3.22 BA |yt 1] 35,899 35,899 1] 35,899 35,899 3|19 W-7" =
1260 1 = S| EHAM - #&F| H19.3.22 BA |yt 1] 35,899 35,899 1] 35,899 35,899 49 -7 =
1261 1 = o|#iY f=1=#7-7 | H19.3. 22 BEA 1] 32,214 32 214 1] 32,214 32 214 1 [iAE=avto-)
1261 1 = o|#iY f=1f=#7-7 | H19.3. 22 BEA 1] 32,214 32 214 1] 32,214 32 214 2|kEE-)
1262 1 = 1197°3 H19. 3. 28 BEA 1| 55,650] 55,650 1| 55,650] 55,650 |AEEE
1262 1 = 1197°3 H19. 3. 28 BEA 1| 55,650] 55,650 1| 55,650] 55,650 AREEE
1262 1 = 1197°3 H19. 3. 28 A 1| 55,650] 55,650 1] 55,650] 55,650 211 EREE
1263 1 = RIEEE3S H19. 3. 31 A |$VIVL27 A" Yy) 1] 101,900] 101,900 1] 101,900] 101,900 HEEE
1314 1 = S|ER H19.7.18 A [AIVh 33— 11 21,2101 21,210 11 21,2101 21,210 ATEEFE
1359 1 = 5374 H20. 3. 31 BA [RLELZR 1] 75,915 75,915 1] 75,915 75,915 SEEE
1360 1 = S| YIbybIvh H20. 3. 31 A 1] 38,535 38,535 1] 38,535 38,535 IFRE R 1
1400 T —  99[y aqvbeyt H20.10. 14 A [V 3{ybvyb900 T-1759 1] 21,000] 21,000 1] 21,000] 21,000 17" bAl=h
1400 T —  99[¥ aqvbeyt H20.10. 14 A [V 3{ybyyb900 T-1759 1] 21,000] 21,000 1] 21,000] 21,000 217" b{h-4
1400 T — 99y aqvbeyt H20.10. 14 A [V 3{ybyyb900 T-1759 1] 21,000] 21,000 1] 21,000] 21,000 317" bh-4
1400 1 —  99[y aqvbeyt H20.10. 14 A [V 3{ybvyb900 T-1759 1] 21,000] 21,000 1] 21,000] 21,000 417" b4h=4
1405 T — 99y aqvbeyt H20. 11. 26 A [V 3{ybyyb900 T-1759 1] 21,000] 21,000 1] 21,000] 21,000 17" bAl=h
1405 T —  99[¥ aqvbeyt H20. 11. 26 A [V 3{ybvyb900 T-1759 1] 21,000] 21,000 1] 21,000] 21,000 217" b{h-4
1423 1 = O|REET-T ) H21.5.18 B A |RFD-1575W 1] 16,275 16,275 1] 16,275 16,275 2P & I1-1-
1423 1 = O|REET-T ) H21.5.18 B A |RFD-1575W 1] 16,275 16,275 1] 16,275 16,275 2|2F & 1-1-
1423 1 = S|REET-T ) H21.5.18 B A |RFD-!575W 1] 16,275 16,275 1] 16,275 16,275 3|2F & 1-1-
1425 1 = 4BFEE H21. 6. 25 REE [fF-MME HT. 3. 30. 1] 17,300] 17,300 1] 17,300] 17,300 INRERE 3
1426 1 = 4BFEE H21. 6. 25 REE [fF-MME HT. 3. 30. 1] 17,000] 17,000 1] 17,000] 17,000 ZEE
1437 5 — 1[{74¥VA349 H21.7. 27 BEA |t 75-WN-P970 1] 27,300 27 300 1] 27,300 27 300 EESES
1437 5 — 1[747VAY49 H21.7. 27 BEA |t 95-WN-P970 1] 27,300 27 300 1] 27,300 27 300 AEESES
1441 1 = 5|Ayf- H21.11. 16 A [{P-$HDT3662SL-WE12 A 1] 58,800] 58, 800 1] 58,800/ 58,800 1o E—
1441 1 = 5|Ayf- H21.11. 16 A [{P-$HDT3662SL-WE12 A 1] 58,800] 58, 800 1] 58,800] 58, 800 AFHBEOYH—F
1442 1 = 5|AyH- H21.11. 16 BEA  [{P-FHDT6333SL-WE9A 1| 49,350] 49, 350 1] 49,350 49,350 MR E—
1451 1 = 9|18 R iR H22.2. 15 A [{h-$BBW-1809K 1] 27,300 27 300 1] 27,300 27 300 1] 1 FEXBY
1451 1 = o |18 Rk H22.2. 15 A [{h-$BBW-1809K 1] 27,300 27 300 1] 27,300 27 300 2| 1 &R
1472 1 = S| TR H22.6.15 A [{h-$BBW-1809K 1] 27,300 27 300 1] 27,300 27 300 1] 1 FEXBY
1472 1 = S| #H TR H22.6.15 A [{h-$BBW-1809K 1] 27,300 27 300 1] 27,300 27 300 2| 1 &R
1476 1 = 5| Z{THEF H22.7.29 A [{h-$K7-140GB-T1D3 1] 18,900] 37, 800 1] 18,900] 37, 800 1 BE 3B
1471 1 = S|tAFHF 7 | H22.7.29 A [{h-$KBT-250SB-133 1] 30,450| 30,450 1] 30,450] 30,450 1 B3
1478 1 = 5| A4l H22. 8. 26 BEA [YS-SIHAfT (FHaAHE /I 11 27,7201 27,720 11 27,7201 27,720 7" UAh=4
1479 1 = S5UR7{ M —b H23.1.6 BA  [H1200 x W1400 (F FE &) 1] 102,000] 102, 000 1] 102,000] 102, 000 1R E—
1480 1 = SEAYA H23.1.6 BEA |97 #vbxL  1000%550 1] 52,000 52, 000 1] 52,000 52, 000 1R E—
1482 5 — INWEY, H23.5. 13 A |HP ProBook 4525s/CT 1| 60,600 60,600 1| 60,600/ 60,600 EZES
1482 5 — 3[n yay H23.5. 13 A |HP ProBook 4525s/CT 1| 60,600 60,600 1| 60,600 60,600 2R E=RI=
1483 1 = ol ab H23.6.10 A |a7/bad (HEZREA) 1] 94,7001 94, 700 1] 94,7001 94, 700 % Bt
1484 5 — 1h5-7 v&) H24. 3. 27 BEA  [PM300/B 1| 40,000] 40,000 1| 40,000] 40,000 EBERZE
1485 5 — NWEY; H24. 6.1 BEA  [DynabookT351 1] 59,800] 59, 800 1] 59,800] 59, 800 EB=
1486 | SIAMR (eA<Z8) | H24.7.23 A |317000-1%n7 1] 99,960] 99, 960 1] 99,960] 99, 960 HEI-1-
1487 5 — INWEY, H24.10. 10 BA |V =—PCG-1141IN 1] 61,715 61,715 1] 61,715 61,715 EB=E
1490 5 — 17" 0y 19%- H26. 3. 31 A [17°9Y HATID 1] 73,334 73,334 1] 73,334 73,334 EB=E
1491 1 = 5|Ayf- H26.4. 10 A M-t 9AHA 1] 55,000] 55,000 1] 55,000] 55,000 1EOE—
1492 5 — 3|V wUk Fyva H27. 3. 26 A |vv¥ 4 ST760 1] 82,500 82, 500 1] 82,500 82, 500 FEICT I35
1493 5 — 317" )v4- H27. 3. 27 B A |EPSON LP-S7100 1| 44, 500] 44, 500 1| 44, 500] 44, 500 EB=E
1494 1T — 14aoE—# H27. 8. 24 A [J3— MPC2800RCSPF 1] 480,000 480,000 1] 480,000 480,000 1EOE—
1495 1T —  16[Z=EREF=H= H27.8. 27 B A |SHARP 1G-25IYA 1] 59,800] 59, 800 1] 59,800] 59, 800 7" U4lh=L
1496 1 = S|HEEETY) H27.12. 22 BEA |45 LS5 6H65LR-2269 1| 45,000] 45, 000 1| 45,000/ 45 000 1[ERSE (k) i
1497 1 — 16|EFRME® H28.3. 18 A [BRIEEHERSE (G) SK-15 1] 31,945 31,945 1] 31,945 31,945 FEEEES
1498 1 = REE XSO H28. 2. 24 BEA |Yasaka=®kO A v FY-M-09 1] 138,275| 138,275 1] 138,275| 138,275 REEEE
1499 5 — INWEY, H28. 5. 25 BB A [PCVJT7LFWH7SRK 1] 83,800] 83, 800 1] 83,800/ 83, 800 EB=E
1500 5 — INWEY, H29. 6.8 BB A |Core—i5DELLNIS5Y6WH 1] 83,800] 83, 800 1] 83,800] 83, 800 EB=
1501 5 — QR )—=> H30. 1. 22 BEA |707547° 29Y-YFS-100V_ 423380 1] 83,800] 68, 500 1| 68,5001 68, 500 ZEME
1502 5 — INWEY, H30.4. 17 BA [NEC/ — k/\y 3> PCNS600JAW 1] 112,000{ 112,000 1] 112,000] 112,000 EB=E
1503 5 — 3N VIV ALK H27.1.28 XEEA |=1BESPRIMO D552/HX FMVDO8039P 1] 55,700 55,700 1] 55,700 55,700 A4
1504 5 — BT+ AT LA | H27.1.28 XEA |74 - A— - T—%2LCD-AD172SEW 1] 11,400] 11,400 1] 11,400] 11,400 =21




EREk I

Rt 2 —
Y] ] ok BES
N\ [=] 2% N -
o X - | S| ® & | =88 [mzss| I BE ME | B | 28 | %2 | BE | £48 | ME | BE | o8 |EEES|/RESH -
1505 [—#%01 —  T14|FNRIHE R1.6.11 BEA [UY5 57T SF635 (FERAH) 1] 400, 000 400, 000 1] 400, 000 400, 000 EBE
1506 1 — 14Lozrg— R1.6.26 BBA |h 7 TE-2800-25S 1] 55,000] 55,000 1] 55,000{ 55,000 BEE
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